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1ppm

0.1ppm

30%

0.1% N-(1- )
20 mL
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N-(1- )

A
20 mL 9 50mL
30% 10 mL 4
0.06 g
5
10 mL 9 20mL
2.0mL
0.1% N-(1- ) 1.0 mL
20 mL 20
2 550 nm 5 6
B
20 mL 9 50mL
30% 10 mL 4
0.06 g
2 550 nm &




0.1% N-(1- ) 1.0 mL
50 mL 5
20 mL 50 mL
0.3g
20 mL 20
2.0mL
10 mL 20 mL
1ppm*
0.5ppm*
50 mL
0.06 gx 7
0.3gx 2
1L
9 100 mL 4
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Lambert-Beer
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1 ppm (parts per million) 1% 10000ppm
1ppm NOs N
100 1




N-(1- )

HO3S @NHZ +HNO, +HCl »  HOsS N*=NCI~ + 2H,0
HOsS @N*Na +

NH(CH,),NH;
N-(1- )
N=N SO;H
9
NH(CH,),NH,
1-(2- )-4-(p- )
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